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Note that first we converted the ‘mixed fraction’ into an ‘improper fraction’:
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Then we found the ‘lowest common denominator’ to be 6 (since 6 is the lowest number that is divisible both by 3 and 6). 
3x6=18 is another ‘common denominator’.

To ensure the fractions remain of the same value we must multiply the numerator (top number in the fraction) by the same number that the denominator has been multiplied by.

By ‘cancelling down’, i.e. dividing top and bottom numbers in fraction both by 3, we see that   
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, which is the simplest form of this fraction.
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